
GEOGRAPHY

ŷJmob

(316)

Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) There are 24 questions in all.

(ii) All questions of Section–A are compulsory. Section–B has two options.

Candidates are required to attempt questions from one option only.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling Outline Maps of the World and India

respectively. Each question contains 4 test-items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of these questions should not exceed 140 words each.

(ix) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(x) Answer of Question Nos. 21 to 24 should be given from any one of the

Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) I S>çA Ho$ g^r ‡ÌZ A{Zdm ©̀ h¢ü& I S>ç~ _| Xmo {dH$În h¢ü& n[ajm{W©`moß H$mo Ho$db EH$ {dH$În Ho$ hr 
‡ÌZm| Ho$ CŒma XoZo h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e:  gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na hß°ü& ‡À òH$ ‡ÌZ _| A{V
bKw-CŒmam| H$s 4 narjU _X| 1-1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
30 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À òH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKw-CŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ _|
go ‡À`oH$ ‡ÌZ H$m CŒma 100 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m
CŒma 140 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(ix) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(x) ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SECTION–A

I S>–A

1. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of the World. Identify these features with the help of

the following information and write the correct names of the related features  in 

your answer-book against each number : 1×4=4

(1) An important parallel of latitude; (2) Volcano; (3) Lava Plateau; (4) Grassland

{XE JE gßgma Ho$ amOZr{VH$ aoIm_mZ{MÃ _| Mma ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) ¤mam
Xem©`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _XX go nhMm{ZE Am°a ‡À òH$ gßª`m Ho$ gm_Zo 
gÂ~p›YV bjU H$m ghr Zm_ AnZr CŒma-nwpÒVH$m _| {b{IE :

(1) EH$ _hÀdnyU© Ajmße; (2) ¡dmbm_wIr; (3) bmdm nR>ma; (4) Kmg^y{_ü&

316/OSS/208A 3 [ P.T.O.



316/OSS/208A 4



2. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of India . Identify these features with the help of the

following information and write the correct names of the related features in

your answer-book against each number : 1×4=4

(1) Mountain Range; (2) River; (3) Natural vegetation; (4) Petroleum-producing

field

{XE JE ^maV Ho$ amOZr{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) ¤mam
Xem©`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _XX go nhMm{ZE Am°a ‡À òH$ gßª`m Ho$ gm_Zo 
gÂ~p›YV bjU H$m ghr Zm_ AnZr CŒma-nwpÒVH$m _| {b{IE :

(1) nd©V loUr; (2) ZXr; (3) ‡mH•${VH$ dZÒn{V; (4) noQ¥>mo{b`_-CÀnmXH$ joÃü&
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3. Distinguish between net sown area and gross cultivated area. 1

ew’ ~mò m J`m joÃ Am°a gH$b OmoV ^y{_ _| A›Va ÒnÔ> H$s{OEü&

4. State two main processes of heating the ocean water. 1

_hmgmJar` Ob Ho$ J_© hmoZo H$s Xmo _wª` ‡{H´$`mE± ~VmBEü&

5. Why is Mumbai called ‘cottonpolis’ of India? Give one reason. 1

_wÂ~B© H$mo ^maV H$m "H$m∞Q>Znmo{bg' ä`m| H$hm OmVm h°? EH$ H$maU Xr{OEü&

6. Define the term ‘ocean currents’. Which current is called a drift? 1

"g_w–r YmamAm|' H$mo n[a^m{fV H$s{OEü& {H$g Ymam H$mo {S¥>‚Q> H$hVo h¢?

7. What is meant by gully erosion? Name two areas affected by gully erosion.

1+1=2

AdZm{bH$m AnaXZ go ä`m A{^‡m` h°? AdZm{bH$m AnaXZ ¤mam ‡^m{dV Xmo joÃm| Ho$ Zm_ {b{IEü&

8. State four linguistic families on the basis of their roots and genesis. ½×4=2

_yb Edß CÀn{Œm Ho$ AmYma na Mma ^mfmB© n[adma ~VmBEü&

9. Explain any two characteristics of dry tropical deciduous vegetation. 1×2=2

ewÓH$ CÓUH${Q>~›Yr` nU©nmVr dZÒn{V H$s {H$›ht Xmo {deofVmAm| H$mo ÒnÔ> H$s{OEü&
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10. Study the diagram given below and answer the questions that follow :

(a) Identify features A and B and write their correct names in your

answer-book against each. ½+½=1

(b) How is feature A formed? 1

ZrMo {XE JE AmaoI H$m A‹``Z H$s{OE Am°a CgHo$ ZrMo {XE JE ‡ÌZm| Ho$ CŒma Xr{OEüÖ

(H$) A Am°a B bjUm| H$mo nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr CŒma-nwpÒVH$m _| ‡À òH$ Ho$ gm_Zo
{b{IEü&

(I) bjU A H$m {Z_m©U H°$go hmoVm h°?

11. Explain any two impacts of landslides on environment. 1×2=2

^yÒIbZ Ho$ n`m©daU na nãS>Zo dmbo {H$›ht Xmo ‡^mdm| H$mo ÒnÔ> H$s{OEü&

12. “GIS technology has enhanced the efficiency and analytic power of traditional

mapping.” Explain this statement in four points. 1×4=4

""Or0 AmB©0 Eg0 VH$ZrH$ ¤mam nmaÂn[aH$ _mZ{MÃU H$s j_Vm Am°a {dÌbofUmÀ_H$ e{∫$ H$m\$s ~ãT>
JB© h°ü&'' Mma {~›XwAm| _| Bg H$WZ H$s Ï`mª`m H$s{OEü&
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13. Describe, in brief, the phenomenon of inversion of temperature in four points. 1×4=4

Vmn {dbmo_Vm `m Vmn_mZ Ï ẁÀH´$_U H$s pÒW{V H$m Mma {~›XwAm| _| gßjon _| dU©Z H$s{OEü&

14. Examine the four main reasons responsible for the low productivity in the

Arctic Tundra biome. 1×4=4

AmH©${Q>H$ Qw> S¥>m Ordmo_ _| H$_ CÀnmXH$Vm Ho$ {bE CŒmaXm`r Mma ‡_wI H$maH$m| H$s g_rjm H$s{OEü&

15. Describe the any four causes of occurrence of floods in India. 1×4=4

^maV _| ~mãT> AmZo Ho$ {H$›ht Mma H$maUm| H$m dU©Z H$s{OEü&

16. What are the four processes which help in the erosion by sea waves? Describe

the four landforms produced by erosional work of sea waves. 2+4=6

do H$m°Z-gr Mma ‡{H´$`mE± h¢ Omo g_w–r VaßJm| Ho$ AnaXZ H$m`© _| _XX H$aVr h¢? g_w–r VaßJm| Ho$ AnaXZ 
H$m ©̀ ¤mam ~Zr Mma ÒWbmH•${V`m| H$m dU©Z H$s{OEü&

17. Critically examine the six points of significance of water vapour for life on

the Earth. 1×6=6

n•œdr na OrdZ Ho$ {bE ObdmÓn Ho$ _hÀd Ho$ N>Ö {~›XwAm| H$s VH©$gßJV g_rjm H$s{OEü&

18. Describe the six major programmes and policies undertaken by the Govt. of

India for conservation of natural resources. 1×6=6

‡mH•${VH$ gßgmYZm| Ho$ gßajU Ho$ {bE ^maV gaH$ma ¤mam ‡maß̂  {H$E JE N>Ö ‡_wI H$m ©̀H´$_m| Am°a Zr{V`m| 
H$m dU©Z H$s{OEü&

19. Distinguish between subsistence farming and shifting cultivation. Give three

points of each. 3+3=6

OrdZ-{Zdm©h H•${f Am°a ÒWmZm›Var H•${f _| A›Va ÒnÔ> H$s{OEü& ‡À òH$ Ho$ VrZ {~›Xw Xr{OEü&

20. Suggest any six ways for the youths to enhance their life skills for preventing

HIV infection. 1×6=6

EM0 AmB©0 dr0 gßH´$_U go ~Mmd Ho$ {bE ẁdmAm| H$mo AnZo OrdZ H$m°eb> H$mo ~ãT>mZo Ho$ {bE H$moB©
N>Ö Cnm` gwPmBEü&
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SECTION–B

I S>ç~

OPTION–I / {dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. Mention the four tools and techniques for data collection. ½×4=2

Am±H$ãS>o EH$Ã H$aZo Ho$ {bE Mma CnH$aUm| Am°a VH$ZrH$m| H$m CÑoI H$s{OEü&

22. Explain the two main differences between primary data and secondary data. 1×2=2

‡mW{_H$ Am±H$ãS>m| Am°a {¤Vr`H$ Am±H$ãS>m| _| Xmo ‡_wI A›Va ~VmBEü&

23. Discuss ecological planning for village Akbarpur in four points. 1×4=4

AH$~anwa Jm±d Ho$ {bE nm[apÒW{VH$ {Z`moOZ H$s {ddoMZm Mma {~›XwAm| _| H$s{OEü&

24. “Slums are the shelters of urban poor.” Justify this statement by giving any

four appropriate arguments. 1×4=4

""_{bZ ~pÒV`m± ehar {ZY©Zm| H$m Aml`ÒWb h¢ü&'' H$moB© Mma Cn`w∫$ VH©$ XoH$a Bg H$WZ H$s nw{Ô>
H$s{OEü&

OPTION–II / {dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z ^yJmob )

21. Name four hill resorts connected by little mountain trains. ½×4=2

Mma CZ {hb [aOm∞Q>m] Ho$ Zm_ {b{IE Omo N>moQ>r nd©V Q¥>oZm| go OwãS>o h¢ü&

22. Explain any two characteristics of rural tourism. 1×2=2

J´m_rU n ©̀Q>Z H$s H$moB© Xmo {deofVmE± ÒnÔ> H$s{OEü&
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23. Explain any four negative impacts of mass tourism on the local youth alienating 

them from their own culture. 1×4=4

OZ-n ©̀Q>Z Ho$ {H$›ht Mma ZH$mamÀ_H$ ‡^mdm| H$s Ï`mª`m H$s{OE Omo ÒWmZr` ẁdmAm| H$mo CZH$s AnZr
gßÒH•${V go AbJ H$a aho h¢ü&

24. Evaluate any four facilities provided by motels to the tourists. 1×4=4

_moQ>bm| ¤mam n ©̀Q>H$m| H$mo ‡XmZ H$s OmZo dmbr {H$›ht Mma gw{dYmAm| H$m _yÎ`mßH$Z H$s{OEü&

H H H
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